Christmas (Concepts) BINGO
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The candle
is narrow.

The t-shirt is thin.

.

Santa fills us his bag
before he
leaves.

The scarf goes
around your neck.

Santais flying above
the city.

The wreaths are
not the same size.

The holly is between
the candy cane and
the snowball.
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This toy soldier
is first.

b

The ornament is
on the bottom of
the Christmas tree.

Eanta’'s boots are below
his belt.
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The train is behind
the Christmas tree,

The stocking is full.

5

FREE
SPACE!

The star is on the top
of the Christmas tree.

The stocking is
empty.
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The snowsuit is
thick.

The candle is wide.

They are riding
through the snow.

0Q 0

The candy cane is
hext to the holly.

The candles are on
the mantel.

=

Santa is flying over
the house.
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The presents are
under
the Christmas tree,

&

The train is in front of
the Christmas tree,

This toy soldier
is thrid.
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This toy soldier
is second.
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